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It = (u® —u” = 3u® +2u° + 3u* — 2u — 1)

* 1 irreducible components of dim¢ = 0, with total 8 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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LI = (u® —u” — 3u® + 2u® + 3u? — 2u — 1)
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 12u* + 4u® — 8u? — 8u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs W —u® -2+t 20 —2u—1
Ca, 4 u® + 3u” + Tu® + 10u® + 11u* + 10u® + 6u® + 4u + 1
c3,Cg,C7 W —u" —3uS + 20 +3ut—2u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs y® —3y" + 7% — 10y 4+ 11y* — 109> + 692 — 4y + 1
2,4 y® 5y +11y% + 615 — 17yt — 34y — 2297 — 4y + 1

c3,Ce,C7 Y — TyT +19y5 —229° + 3yt + 1493 —6y2 — 4y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1CS)

Cusp shape

uw = —1.180120 + 0.2685971

—1.04066 + 1.131231

—7.41522 — 0.510791

u = —1.180120 — 0.2685971

—1.04066 — 1.131231

—7.41522 + 0.510791

u = —0.108090 + 0.7475081

2.15941 + 2.578491

—4.27708 — 3.567961

u = —0.108090 — 0.7475081

2.15941 — 2.578491

—4.27708 + 3.567961

u= 137100

—6.50273

—13.8640

u= 1334530 + 0.3189301

—2.37968 — 6.443541

—9.42845 + 5.294171

u = 1.334530 — 0.3189301

—2.37968 4 6.443541

—9.42845 — 5.294171

u = —0.463640

—0.845036

—11.8940




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs wWru —ub — 2w+ ut 20 —2u—1
2, ¢4 u® 4+ 3u” 4+ 7ub + 100 + 11u* + 10u® + 6u® + du + 1
c3,Cg, C7 u® —u” —3u 4+ 2u° +3ut —2u—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cs y® — 3y + 7y® —10y° + 11y* — 1093 + 6% —dy + 1
Ca,Ca y® 4+ 5y + 115 + 69° — 17y* — 34y — 2292 — 4y + 1

3, Cg, C7 y® — Ty" 4+ 1995 — 2295 + 3yt + 149° — 6% — 4y + 1




